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‘ SECTION-I: CHIL PSYCHOLOGY & DEVELOPMENT PEDAGOGY,
TEACHING LEARNING PROCESS
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y L Psychology is the science of
| MUES IR : Human behaviour. The term
(A) TRz ﬁmm behaviour includes -
(A) Conative activities
(B) Ahwrss farang
(B) Cognitive activities
“ ! (C) Affective activities
(D) -390 w3t (D) All of the above.
2. 9 vsfa o =fg 2 At famrt 2 In Which method the mental
1 FEET T s disorders of an individual are
studied?
(A) JarmHs fafy _
_ (A) Expez:imental method
i ‘ el ' (B) Clinical method
©) e fafy (C) Introspection method
(D) wATEe fafy) (D) Questionnaire method.
23 AT w1 B i wmen erfgfe | 3. ~Which branch of psychology
: IR o =t m@ﬁ HT GO ~ describes the processes of growth
FW B2 ' ~and development?
(A) = FEfEEE (A) Child Psychology
(B) fowmaras HAifam™ (E) Developmental Psychology
(C) ¥ifer HAIfaRmM, (C) Physiological Psychology -
D) TR T (D) All of the above.
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(A) faew que

(B), fafeam S
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(D) Tame wEs!
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(A) TEH

(B). H8H,

(C) *TuEH

(D) SR H ¥ Hig el
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Which of the following ig
NOT truc about IEducationg]

psychology?

(A) Educational psychology
helps to study learnerg
behaviour.

(B) Educational psychology
helps to improve family
environment.

(C) Educational psychology

helps to arrange proper
learning situations.

(D) Educational psychology helps
in selecting  appropriate
evaluation techniques.

Who is the propounder of
structuralism?

(A) Wilhelm Wundt
(B) William James

(C)- J. B. Watson

(D) Sigmund Freud.

........... f........ represents the moral

aspect of psyche.

(A) Td %Y.

(B) Ego

(C) Super ego

(D) None of the above.
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According to Piaget, during

" which stage the child starts

thinking in abstract form?
(A) Sensory-motor stage

(B) Pre—opérational stage

* (C) Concrete-operational stage

(D) Formal-operational stage.

Differences in reasoning, power of

- imagination and  creative

“expression are the examples of

which  type of individual
differences?

- (A) | Physical differences

(B) ‘Mental differences

(C) Learning differences

-+ (D) None of the above.

Whilch' of the following statement
is NOT true about Human

; grbwth?

| (A) Growthis limifed tb physical
growth only. '

- (B). -Growth is life-long process.

: - (C) Growth is a sub-system of

development. .

D) ‘G’rthh_is only quantitative.

PT.0.



11.

12.

ofz fret oaf o fedt favd TR
1 wafafy ¥ e wwfed AwEd
%ﬁ?ﬁ%,ﬁiﬁiﬁﬂ'{w%:

(A) Af9arHd

(B) dfg
(C) TFATCHER
(D) 31fysf=|

ﬁmﬁf@ﬂﬁﬁﬁ?wgﬁgqﬁm

o  § T @ e #@ g

& w @ fag w82

() T i aRE
(B)sqﬁﬁquﬁm
(C). I Ml &
(D)aqﬂaaﬁ@aﬁéﬁl
erffed & @ fRE TER e
aﬁam@wﬁqﬁﬂaﬂ
gT @ 99 87

A) Ta e

(B) 3m|d fa=d
(C difdeen fa=t

(D) gerres A=

N-2415-Series-A

(6)

10.

s o

s

'If a person has some potential

ability in a specialised kind of

activity, it is known as :
(A) Aptitude

(B) Intelligence

(C) Creativity

(D) Interest.

Which  of the following

intelligence test is meant for
measuring intelligence of oﬁe

individual at a time?
(A) Individual Verbal Test
.(B) Individual Performance Test
(C) Both of the above
(D) None of the above.
Which of the followir_llg kind of
thinking is associated with 'oné’s
ability to construct something
(A) Concrete Thinking
(B) Abstract Thinking
(C) Logical Thinking

(D) Creative Thinking. o
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14.

15.

- (A)

.................

(inds it difficult to

lkKeep pace with the normal school

worlk.

(A) Gifted child

(B) Delinquent child
(C) Backward child

(D) None of the above.

Which of the following is the

first stage of psycho-social

development as described by

- Erickson?

(A) Autonomy vs Shame
(B). Trust vs Mistrust
(C) Initiative vs Guilt

(D) Identity vs Role confusion.

For which of the following activity
the knowledge of individual

differences is not required for a

teacher?

Select an appropriate
teaching method.

(B)

(®)

(D)

Prepare question paper.
Assign activities to students.

Plan professional development

activities.

B RO:
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Which of the following is NOT
and external factor influencing
Human growth and'developme_ﬂt?

(A) Mental health of mofher
during pregnancy. '

(B) Quality of

. physical
environment.. :

(C) Level of Intelligence of the-
child. '

(D) Availability of medical care
and nourishment.

To identify the gifted childrén,

the teacher can use which of the

following.technique?

(A) Opinion of pare'n{;s and
friends ' ’

(B) 'Interview

(©) Intelligencé test

(D) All of the above.

Who says, “The ‘pro'cess' of

acquiring new knowledge and

new responses is the process of

learning”?

(A) Hilgard

.(B) Crow a_nd Crowl I

(C) Woodworth
(D) Skinner.
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20.

21.

- ®)

Which of the following is NOT
included in the gcope  of
Educational psychology?

(A)
(B)

Characteristics of learner

Intelligence

and its
measurement.
(C) Technological aspects of
education.
| (D) All of the above.

Which of the following statement
is NOT true about creativity?

(A)

Creativity is universal.

Creativity produces

something novel.

(C) There is positive correlation
between - creativity and
. intelligence. _

(D) None of the above.

~ Learning brings change in the

behaviour of ......oo....... .
(A) A student

. (B) All human beings

(C). Every organism.

(D) None of the above.
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All human beings are mortg].

Karan is a human being, Karan

is mortal. It is an example of :

(A) Inductive reasoning
(B) Deductive reasoning
(C) Simple reasoning

(D) None of the above.

If a student tries to solve a

problem systematically and by

fol_iowing some planned steps, he

is using :

(Aj Trial and Error approach.
(B) Problem solving approach.
(C) Project method

(D) All of the above.

If the learning in one situation
proves helpful in the learning in
another situation, it is called :
(A) Positive transfer of learning.
(B) Negative transfer of
learning.

(C) Zero transfer of learning.

(D) None of the above.
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26.

.

Who among the following is NOT

a behaviourist?

(A) J.B. Watson

(B) Pavlov

(C) Skinner

(D) William James.

To identify the learning-disabled

childr:en, the teacher can use

which of the following technique?
(A) Observation

(B) Diagnostic tests

. (O IInte'rviev{r

. (D) All of the abo{re.

Which of
indicativé of learner’s state to

the learning

law learning is

participate in

~ process?

(A) Laiv of effect.

. (B) ‘Law of exercise

(C) Law fo multiple responses

(D) Law of readiness.
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To en
hance creativity among

students, teacher should :

A) Di
(A) Discourage student’s freedom

to respond

(B) Use

brainstorming

' technique '

(C) Promote hesitation and fear

‘among students

(D) All of the above.

Reward is an example of

(A) Extrinsic motivation
(B) Intrinsic motivation
(C) Primary motivation

(D) None of the above.

Which of the following is NOT

included in the process of
Memorisation?

(A) Recall

(B) Retention

(C) Reconstruction

(D) Learning.
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(A) 324 8

(B) 352

(C) 376

(D) 370.
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CLUDING HIMACHAL PRADESH
ONMENTAL STUDIES

What is the Constitutional name

of National flag?
(A) Tricolor

(B) National flag
(C) Dizzy flag

(D) None of these.

Which of the following Country has
been called the home of Direct

Democracy?
(A) Switzerland
(B). America

(C) India

- (D) England.

In which article of the
Constitution is mentioned of the

Election Commission?
(A) 324
(B) 352
(C) 376

(D) 370.

P.T.0.
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What is the impact of develop,,
-

on cnviron'mcn.t?
(A) Negative

(B) Positive

(C) Both (A) and (B)

(D) None of these.

What is the America’s share iy, .,

- World economy?

(A) 28%

- (B) 25%

(C) 20%

(D) 15%.

- Where was -the World’s fir:

Business school opened?

(A) India -

_(B) China

- (C) America

(D) Japan. -



37.'. feed El"f Yen fa Q@ <l w1 "W 37. Hindon square line is the
: eCl 27 i boundary line of which two

_ countrics?

st ik diets

(A) ; (A) Germany and Poland

@) wra S T | (B) Tade-China

8} 's‘ﬁﬁ?s’ IR TS | ' ’ (C) England-Poland

D) T 4 = @ (D) None of these.

qor g freR geed T2l 38. Where was the first non-aligned
38. JCIRISE _

i o o2 sum.mit held?

(A) <fwat (A) Tokyo

(C) derie | (C) Belgrade:

(D) STTra| : (D) Angola.
39, ‘eng-3R’ YWH b ACS % | 39. Who is the author of the Book

2 ' . | ‘Aadhe—Adhure’?

(A) HET THY | (A) Mohan Rakesh

(B) whTeiar™ ’ ' (B) Kalidas

(C) e | (C) Tulsidas

D) THE TN ‘ : (D) Rajendra Prasad.

- N-2415-Series-A i (15) A ; P.T.O.



40.

41.

39

AL e T

(A) 19209 % sk

(©) 1936 ¥ wrerrss

D) 1937 £ Yoy

e W‘qﬁw‘ﬂﬂﬁmﬁgﬂﬂ'

Y HE §?

(A). TS T

B) =it Fwr fig
© wmit wewE W
(D) &&1 TH WL .

10 W 1857 % w1 R fame :

wEl W RE9 gl °1?

(A) AR

(B) feeedt
(C) W3S

(D) AT

40.

41.

42,

(16)

N—2415-Series-A

In which session did the Gias r
set the goal of . S
Omm&t[. ;

Independence?

(A) Lahore in 1929 A D

(B) Karachi in 1931 A
©) Lucknow in 1936 AD

(D) Faizpur in 1937 AD,

Who was the First President
India Kisan Sabha?

(A) N.G. Ranga

(B) Sh. Krishan Singh

(C) Swami Sahajanand Sarasy. |
(D) Baba Ram Chandra.
Where did the Sepoy Mutiny ¢
10 May 1857 A.D. ?

(A) Barrackpore
(B) Delhi
(C.) Merath

(D) Agra.
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When wag the Muglim Litigus

establishe?

(A) 1905 A
(B) 1906 A.D.
(C) 1907 A.D,

(D) 1909 A.D.

Who presided over the 1929 A.D.

session of Congress?

(A) Motilal Nehry

(B) Jawaharlal Nehru

(Cj Sardar Vallabhbhai Patel
(D) Subhash Chandra Bose.

In which sta;:e Panchaya;ti Raj was
first eslte‘ablished in India?

(A) Bihar |

(B) Rajastian

(C) Maharashtra

(D) : Gujarat.
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In which district of Himachal
Pradesh is the pass named Laluji

located?

(A) Lahaul-Spiti
(B) Kﬁllu

(C) Kangra

(D) Chamba.

From which hill does Giri River

originate?

" (A) Kuppar Hill

(B) Jakhu Peak

(©) Theog Dhar

(D) Dodra Kwar Dhar.

With which laké is %he name of

Padém Sambhava Associated?
(A) Kilajjiar
(B) Pagraé;lhalr
(C) Rewalsar

D) Dal.



fermrere g—c‘ma% forg fort o A | 49, In which district of Himachal
: ; ' - Pradesh Uranium deposits have

been detected?

(A) THRGT (A) I—I:Elmirpur
(B). A1 .(B) Una
) | I (C) Kangra
(C) =TTEl
(D) Kullu.
(D) &Rl

. ' is hanala famous folk
s E sl 5 50. Where is Mo
7 w1 yfgg reila B . _,

song?
3 o 7 (A) Sirmaur
Sl ' % | _ (B) Una
! (C) Kangra
(C) =hITS] i
e (D) Bilaspur.
(D) fae QR T
guerad I 2, | 51 Where is Bhuri Singh Museum
e ' T W feord & :
hay L ' | located? .
) = ‘ A (A) Kangra
. ‘ ; Kullu
SN (B) Kull
| | '~ (C) Chamba
(C). I I
o : (D). Solan.
(D) wieH .
I P.T.O.
“ | (19)
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By wh:t name Kangra was known

in ancient times?
(A) Nagarkot
(B) Kilar

(C) Jalandhar

(D) Kauravpur.

In which year the Victoria Bridge
of Mandi was built?

(A) In 1877 A.D.

(B) In 1820 A.D.

(C) In 1920 A.D.

(D) In 1887 A.D.=

Which is the biggest industrial city
of Himachal Pradesh?

(A) Solan
(B) Shimla
(C) Sirmour

(D) Mandi.
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Chhamb xs the folk dance of which
district?

(A) Solan
(B) Kinnaur

(C) Lahaul spiti

(D) Chamba.

By whom was the Rang Mahal
constructed at a place called

Bilaspur in Himachal Pradesh?
(A) Vijay Chand-

(B) Kalyan Chand

(©) Jasta Burman

_(D)' Lalit Burman.

Who was the ruler of Hindur

(Nalagarh) at the time of Timur’s

invasion?

(A) Amar Singh
(B) Amar Chand
(C) Ram Chand

(D) Kehar Chand.

PO,
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Which was the last Pahadi State

among the hill States to lose it -

Independence?
(A) Kangra
(B) Kullu

(C) Kulind

(D) Trigarta.

Hari Chand was the ruler of whick
state?
(A) Beza

tB) Mehlog

'~ (C) Mangal

(D) Dhami.

By what other name is Pubba:
Valley of Himachal Pradesh 1

known?

(A) Rohru
(B) Bagi
(C) Setu

(D) Semu.




SECTION-III : ENGLISH

Dirccti
| he correct form  of indirect
t

«Are you a vegetarian” he said to

61

her:

(A) He asked her whether she was

a Vegetarian.

(B) He asked her if she was a

vegetarian.

(C) He told her whether she is a

vegetarian.

(D) He asked her whether she is a
vegétarian.' .

62. Hesaid to me, “Are you not afraid”.

 (A) He asked me if I was not

afraid.
(B) He saidifI was afraid.

(é). He asked me was I afraid.

(D) None of these.

N-2415.Series-A S 608)

on Q. Nos. 61 to 65 : Choose 6G3.

64.

- 65.

She said to her friend, “wil) you
help me”?

(A) Sheinquired her friend to help
her,

(B) She asked her friend if she

would help her,

(C) Her friend was asked to help
her.

(D) -None of these.

Radha says, “It is raining heavily.”

(A) Radha was telling it rained

heavily.

| (B) -Radha says that it is raining

heavily.

- (C) Radha says 1t is heavy

. downpour of rainfall.

(D) None of these.
He said to the driver, “Be quick”.

(A) He ordered the driver to be
quick. :

(B) The driver was ordered to be

quick.
(C) He told the driver to be quick.

(D) None bf_' these.

P.TO. .



Di i
1rect10n Q. Nos. 66 to 68 : R
arrange the ‘f A
sentences (i), (ii), (iii e
s (1i1) and (iv) in t
i ) in the

following

Ssequenc "
q ce of form a

meani
ngful paragraph and then
mar

ark the correct sequence as your
answer :
GG. (1) He should list all the causes

(ii) Then implement 1L

(iii) After pin pointing he should

consult others.

(iv) The manager should identify

" the problem.
(A). 1)—(iv)—(iii)—(ii)
B) ()~(ii)—v)—(i)
(C) (iv)—({iD)—-GD)—-1)
(D)y (iD)—(iv)—(iid)—)- '

67. (i) So services formulated and

carried out the policy.

' (ii)) Now the policies are

formulated by the Ministers.

- "69.
(iii) The administration and
Gover.nment . were  not
different.
(iv)- In the past it worked under
authoritarianism.
(24)

N-2415-Series-A

68.

(A) (iv)—(i)—(ii)—(i1i)
(B) (iv)—(iii)—(i)—(ii)
(C). (iv)-(iii)—(ii)—(1)
(D) (i)—=(ii)—(iii)—(iv).

(i) That technique brough

success.

(ii) We championed the cause

other countries.

(iii)- We fought it with a speci;

technique.

~(iv) We are happy that the

achieved freedom.
&), G-
'@)m{m4wymn
(C) (iv)—({i)—@)—(ii)

(D) ()—(D—{iD—Gv):

Direction Q. Nos. 69 to 72: Choo:
the best alternative to complete tl

sentences given below :

Please tell me:

(A)  Where is the bus stop
(B) Where the bus stop be
(C) Where stops.the bus
(D) Where the bus'stop is.



70 She said : i
= (A). That she was hungry

(B) She hungry

(C) She be hungry -

(D) Her was hungry.

I didn’t know :

Ak
75.

(A) .that he mean

(B) What did he mean
: (C) What did he meant
\ (D) What he meant.

I told him :

~1
O

(A) What the Homework was

(B) What was the Homework

(C) What was to ‘be the
Homework

(D) Whatis the Hoﬁlework.

Direction Q. Nos. 73 to 76 : Give one

word for the following expression, 77

choosing from those given under

each expression :
73, Work inscribed on the tomb.
. (A) .Eulogy
(B) Epitaph
(C)- Epigraph

(D) Eloquence.

N-j2415~Series-A (25)

76. .

An office with
no w :
pay. ork, but high

(A) Honorary

(B) Sinecure

(C)' Ex-officio

(D) Reticent.

Very vigilant and cautious.

(A) Meticulous

(B) Fastidious

(C)» Anxious

(D) _Alert.- :

A small sh:ﬁp that sells fashionable

clothes, cosmetics, etc.
(Aj Store

(B) Stall

(C). Boutique

(D) Booth.
The correct Masculine gender

for:

What is the Masculine of Chicken?

(A) rooster
(B) hen
(C) bull

(D) goose.

pP.T.O.



78. . What is the '
¢ Ma i o . ;
asculine of googe? 82. The correct feminine gender of
(A) - drake Ram
(B) bull
j u (A) Ewe
| (C) gander (B) Liml
imb
(D) goose. (C) Lob
0]
79.  What is the Masculine of Nun ? (DI) Lumber
A :
(A) monk _ Direction Q. Nos. 83 to 88 : Choose

(B) queen the correct prepositions to complete

(C) spinster the sentencés given below :

(D) doe 83. The poor have to work .........
' ' : morning to evening.

80. Masculine gender of Mayoress : | '

| (A) in

(A) Mayors
(B) Mayoree (B) to
(C): Mayor (C) from
(D) Mayoress. (D) ~befor§. l I
81, Feminine gender of colt. 84, Neverlaugh .....ccc.c... the disabled.

(A) Penguin (A) on

(B) Cuckoo (B) from

(C). Duck ©) to

(D) Filly. (D). at.

N-2415-Series-A (26



5.

S6.

87.

N-24'l 5.Series-A

He SPOKE .oouveesianss ‘the subject for

two hours regularly.
(A) in
(B) on

(C) of
(D) with.

what your teachers

(C) to
(D) for.

We get rains .......-.- July every year.

(A) for
(B) to
(C) on
(D) in.

gy,

88.

We have a very good news
him. '

(A) for
(B) of
(C) to

(D) with.

Direction Q. Nos. 89 & 90 : Choose
the correct alternative to complete

the idiom :

' 89.

90.

(27)

Asinnocentasa ............... .

(A) Dove

. (B) Sheep

(C). Duck
(D) Doe.

~ Asproud asa ... ;

(A) Gander
(B) Owl
(C) Parrot
(D). Peacock.

AP0,



SECTION-IV : SOCIAL STUDIES

Ol ¥RA &1 W el @ a1 A
T R?

(A) &g gwan
(B) Iw @
(C) | gy

D) T T

02 TEw T W W ww g e
(A) 1921 8. o
B) 1922 3 &
(C) 1923 % ﬁ:-
D) 1920 §. #H]
93. WY Wmrm W wEd TRE wee
HH o1?
(A) 219 -
(B) Bdaf. |

' N“'2415-Series-A

o1.

92.

9.

(28)

What is the name of I_ndian oldest
civilization?

(A) Harappan civilization

(B) Vedic civilization

(C) Maurya civilization

(D) Gupta civilization.

was the Harappan

When

civilization discovered?
(A) In 1921 A.D.

(B) -In 1922 A.D. |
(©) In.1923 A.D. |

(D) In 1920 A.D.

Who was the greatest ruler of the

Mauryan Empire?

 (A) Ashoka

(B) Harshvardhan
(C) Chandragupta Méury;a

(D) Bimbisara



ot Fafera fR we W 87 | 94 Who s called e

e Indian
4.
9 : Napoleon?
A) ol 9T ey
. (A) Dr. V.A. Smith
(B) HEST (B) Samudragupta
(©) ESIA (C) Chandragupta
(D) SIRHL AHIR ' (D) R.C. Majumdar.
05, TURIW® WRA 1 qEd W @ THGE/ 95. What is the most important

BRy T W 37 Religious Sutra/Legal Text of

early India ?

(4) I (A) Manusmriti
(B) HelHRd (B) Mahabharata
(€) F=T (C) Rigveda

(D) TH ?\T R ] . | _‘ : .(D)I-None of these.

9. WTHM & ATER foar fead gaR 96. How many types of Marriages are

% T 27 { there according to Manusmriti?
@z | @ Two

(B Al | (B) Fi{ze'

©) a1 | (C) Eight

.(D) B | pa | (D) Four,

N-2415.Series.A (29) - PT.O.



97. WW T Yy ey e uy B3 97.

o1 ?

(A) §ERTe
(B) TR
(©) S

(D) TSl

98. W€l WU wel fem 2 - 08.

(A) Hrare
(B) 3METR
(C) oot

- (D) Irml -

99.  WTEM TR 1 W ke g W? | 99

(A) 566 3.9
(B) 599 £,
L (C)E52T. Ay,

(D) 572 %3,

o -N4-2415-Series-A -(30I)

At which place did the War of

Mahabharata take place?
(A) Indraprastha

(B) Kurukshetra

©) Véishali

(D) Rajgriha.

Where is Sanchi Stupa located?

-

(A) Bhopal

(B) Aurangabad

(C) Delhi

(D) Agra.

When wa‘_s. Lord Mahavir born?

(A) 566 B.C.

(B) 599 B.C.

(C) 527 B.C.

D) 572 B.C.



wgarR gE W W 2"2 3 w | 100. “The World is a house of sorrow”

lqo' PR a2 o2 who gaid these worda?
(A) | Tt (A) Saint Kabir
(B) TET e | (B) Mahatma Gandhi
(©) T TS | (C) Mahatma Buddha
D) Wﬁﬁ"f M1 ' (D) Mahavir Jain.

01, SRa T o™ o &l A e 101. Who started the religion of Islam

1?2 | in India? .

(A) HEwTe-Taa-emiam = | (A) Muhammad Bin Qasim
(B) ﬂ%‘ﬂq‘q' IR " < tB) Muhamfnad Ghori

© @ R () Hazeai Miuhasrad
D) o/ FFI a (D) Abu Bakr.

102. FUR e H USHE! A eft? | 102. Which one was not a capital of

: Akbar?
(A) @B : .
(A) Lahore
(B). HedmH
(B) Multan
i (© feeedt (C) Delhi
ey - (D) ":Fi_a?ff{ Hrenil| ; (D) Fatehpur sikri.
N-2415.Series.A SR A _ P.T.0.



103.

104.

105.

N-2415-Series-A

T e T s

(A) = & w2 W

(B) st & omit 2 W

(©) sit dn wRR i
(D)ﬁ"fﬁéﬂ’rﬁfﬁﬁﬁvﬁl
R A e w
o2

(A) 9

(B) 3Th=R

©) e

(D) 1€l

el 3 drefasnm s sd gHw
ferar emr? |

(A) 1563 3. o

(B) 1564 3. ®

(C) 1565 3. ®

(D) 1569 E. HI

103.

104.

105.

(32)

Who was the first Sikh guru?

(A) Sh. Guru Nanak Dev Ji

(B) Sh. Guru Arjan Dev Ji

(C) Sh. Tegh Bahadur Ji

(D) Sh. Guru Gobind Singh Ji.

Who was the founder of the

Mughal dynasty in India?

(A) Humayun
(B) Akbar
()] Aurangze‘b

(D) Babar.

When did Akbar
Pilgrimage Tax? .

(A) In 1563 A.D.
(B) In 1564 A.D.
(C) In 1565 A.D.

(D) In 1569 A.D.

abolishe



106 T TR W HA G | 106, When did.lndia’s first war of
o L R Indepéndcnce take place? -
| . E
L (A) 15 T 1857 T, (A) 15 May 1857 AD.
: ®) 31 7 1857 % (B) 31 May 1857 AD.
©) 10 n-é 1857 3. 1 (C) 10 May 1857 AD.
(D) 10 S 1857 s‘.ll : v (D 10 June 1857 A.D.

107, T W e mEd @ e | 107. When did the great depression

J

fi? _ ‘i\ ' ' start in the World?
: | :
(4) 1923 ¥ # : g R -11['1q 1923 A.D.
(B) 192§ TR, | . (B) In 1929 AD.
© 1930 € 5 v T e ) In 1930 AD.
- (D) 1932 % Ifﬂ_ & : _ '(D):I'n_1932:’A.l‘);

_-10_.8' I Ea Tl'b'c;‘HTGIT Eﬁ?ﬁ 272 _ ,.1'08. Whii:h is the National Language

; iy - of India?
) sigsht g
W Gt (A). English
®) fet ‘ Aiiam
s (B) Hindi
i (C_) 3 ' T # 1OV Hindistaor" ‘
_(D) L) @ EOF ﬁl : | . . (D) None Qf'theSe.-



How old is the Karth?

109. 9geat fwal guft @2 : 109.

(A) 2 3@ a4 vy (A) Two bhillion years ago

B) 4 a0 ®HUg ad yw (13) Four billion sixty crore ago

(C) 3 awa 30 &g ad yd (C) Three billion thirty crore ago

(D) 5’(‘3 q &g T8l (D) None of these.

110. TN Stad ® Yeed %wl ¥ g€ | 110, Where did Urban Life begin?

ei?
- (A) Mesopotamia
(A) HIgrer g
®) (B) Rome
(C) wig (C) France
(D) Wl (D) London.

111. % WPR @I Y97 WERT F1 &F | 111, Which sea is called the heart of

w21 W 22 o . | the Roman Empire?

(A) TfsrEaq ?WT{ . ' (Aj Aegean Sea

(B) arad AR | | (B) Red Sea

(C) zrf1aT WK S (C) Ayoniyan Sea

(D) A=A 9rr| (D) Mediterranean_ Séa. :

N-2415-Series-A (34)



2. WTER HEWR W OSST wE AT | 119,

T ?

@) 510 & #

(B) 530 € #

©) 560 3. H .;

@) 570 % ° .

:1_13.‘ g &r:fg,z ke g 12
_ @A) 1096 3. F |
(B) 1097 3. ﬁ'i
© 1098 3(.‘_ "

D) 1099 % T

:114. T Wﬁ'@ et 2’{?.

(A) \eg e %
(B) LA WR &
(©) g & |
(D)<= ‘m‘b‘l.

N-2415.Series-A

(35)

113.

114.

Whe ¢
wen wasg the Prophet

Muhammad born?
(A) In510 A.D.
(B) In530 AD.
(.c') In 560 A.D.
(D) In 570 A.D.

When did the first ecrusade take
place?
(A) In 1096 A.D.

(B) In 1097 A.D.

(C) In 1098 AD.

(D) In 1099 AD.
Whére did Mong(;l lives?
(A) Central Asia

(B) Mediterranean Sea
(C) Tundra

(D) China.

P.T.O.



115, ‘wielam’ few dw @ gale o 115. Whigh country did ‘Columbus’

belong to?

(A) et

(A) Portugal
(B) w1y : -

(B) France
- (C) Italy

(D) SHAT (D) Germany.

116. T&g HE™WI 1 TS whd g2 '116. When . was Hindu Mahasabha
C . | formed? e
A) 1915 % H Thed ¥

' (A) In 1915 A.D.

(B) 1951 % H
(B) In 1951 AD.

(C) 1885 . H : (C) In 1885 A.D.

D) 1980 5. # | % (D) In 1980 A.D.

]

117. Wo/ o9 9l § wafysR =t | 117. What was the age of Votin

oy fhar oft? rights in the First Genenr:
: | Election?
(A) 18 =4
: | (A) 18 years
(B) 17 a4
(B) 17 years

(O o1 & Sl |

¢ ' | (C) 21 years
2047 | ' (D) 20 years.

N-24154Series-A . ( 36 )



119

120, “g fempadl 3ATH <fea” TEIh = | 120.

mmﬁaﬁﬁmm 118.

qra B fwa mmaﬂ'_'aﬁ et | 119

By what name was India known

before partition?
(A) Hindustan
(B) Bharat

(C) British India

(D) None of these.

How many Languages have
Constitutional recognition in
India?

(A) .20' Languages

(B) 22 Languages

(C) 24 Languages

(D) 26 Languages.

Who is the author of the Book

“The Discovery of India”?

.(A) Sh. Lal Bahadur Shastri
(B) Dr. V.P. Verma

(C) Dr. Radhakrishnan

F (D) Pt. J awaharlal Nehru.

P.T.O.
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121. geoy el TSAT H WG o 121. When was the First Five Yq
P AT T e? Plan implemented in India?
(A) 1951 € = (A) In 1951 A.D.
(B) 1950 8. # (B) In 1950 A.D. i g
(© 1852 & F (C) In 1852 A.D.
@) 1953 % H) ﬁ (D) In 1953 A.D.
122. 9Rg 9 fog _—cl"Sf R 3THTer Tgr | 122. 1;1 which year was there a Sevq
1?2 | | Famine in India?
(A) |1 1967 & 1971 (A) From 1967 to 1971
(B) ¥ 1967 & 1973 (B) From 1967 to 1973
(C) |1 1965 a3 Bo67 (C) From 1965 to 1967
(D) W 1967 & 1969. (D) From 1967 to 1969.
123, eRa it fw s ¥ o #t? | 123. In which field did the G
! R i i Revolution take p_l_zice?
(A) siteifs &= e e | i T
" gl - _(A) In the industrial sector
B) &t & ‘
el (B) In the technical field
. { { it
(C) ufteda &= _ (C) Tran'strm'étioh Zone
o g am (D) Agricultural ﬁ_éld'.

" N-2415.Series-A . (38)



124.

ercd Fow AR B S @ o
(A) Y. TEEIEE AT
@ st R e

-.(D)ﬁ%ﬁﬁﬁmﬁﬁl_

125.

126,

"g?.]\‘q {Lz;ﬁﬁa goreE w8l gal
o2

(4) des §

® & feht

C & H

(D)aqﬂﬁ ¥} g

Y

&) 2 g 1971
L (B) 2 q@g 1972

(C) \2 Gﬁﬁ 1973

N-2415

.' _.(D)‘ 2 TETE 1974,

Series-A

124.

125.

126.

(39)

Who was the father of Indian

Foreign Policy?

(A) Pandit Jawaharlal Nehru.
(B) Smt. IndiralIGandhi

(C) Sh. Mahatma Gandhi

(D) Sh. Atal Bihari Vajpayee.

Where was the First Non-Aligned

Conference held?

(A) Belgrade

(B) New Delhi

(C) Russia

(D) None of the above.

When was the Shimla Agreement

| signed?

(A) 2 July 1971
(B) 2‘July 1972
(©) 2 July 1978
D) 2 July 1974.

j P.T.O.



127. WA W we wma ey @ R 197, Which amendment was fi,

waum N g el fsm
o7 ?  prevent de

made to the constitution

foction in India?

(A) 42 & weww (A) 42nd Amendment

(B) 44 87 guiye (B) 44th Amendment
(C) §2 a7 wowe (C) 52nd Amendment
D) 72 =1 @A ' (D) 72nd Amendment.

128. 42 ¥ WAWiiH WYNYA %9 WRE | 198, When  was  the 420
g3 wn? _ constitutional amendmen

d?
(A) 1971 3. S
(A) 1971 A.D.
(B) 1976 3. '
| _ ‘(B) 1976 A.D.
(C) 1978 &. - ; (C) 1978 AD. -
@) 1930F=0 N BN | ® 19804D.

129. 9191 &% MYR T 9N FH HQFI 129. When was the first state of In

T %d 99191 T o917 I;. - formed on the basis of langua
(A) 1953 %, . ' ' _-: (A In 1953 AD.
(B 1954 a3 (B) In 1954 A.D.
- (©) 1955 % ; © In 1955 A.D.
(D) 1956 %, ' |

D) In 1956°AD 1 -

'N—2'415-Sei'ies-A ¢ . (:40 .) : : i |




130.

131.

‘faaent STRIeH foRw T | geifig
¥ '

(A) dsTE |
(B) STU@E ®
() fer
(D) TRE W

aﬁmﬁnﬁwaﬁ‘mgw.
gardl HAfufm fog 9 gifg

. g3?

(&) § 2002 i
®) ¥ 2003
(C) ¥ 2004 #
(D) |1 2005 HI

Wﬁuﬁaﬁwnﬁwﬁaﬂ
TR W@ 82

(A 1 S

 (B) 26w

. ©2

(41)

130.

131.

132.

‘Chipko Movement’ ig related to
which state?

(A) Punjab

(B) Uttarakhand

(C) Bihar

(D) Gujarat.

In which year was the protection

of Women from Domestic violence

Act passed?

(A) In the year 2002
(B) In‘.the year 2603
(C) In the year 2004
(D) In the year 2005.
When is Women’s Day celebrated
Every Year in India?
(A) 1st January

(B) 26th January

(C) 2211(;1 March

D) 8tl.1 Marcim

i BT0.



135.

N-2415-Series-A

133.

& 134.

mmmm'aﬁ Ean'z:n?

@A) 1975 3

(B) 1977 %

(C) 1980 %

(D) 1982 %I

“aﬂmmww"aﬁuﬁﬁf

wEl & g{wﬁ?

A) femr@ 9 ‘
REL

© gl

(D) ST T

My Hie Hd ‘g',afn le:n?
(A) 1999} T

B) 2005 % F

(C) 2002 %. ﬁ’_

(D) 1990 %. HI

133.

134.

135.

(42)

In which year was BJP formed?

(A) 1975 A.D.

(B) 1977 A.D.

(C) 1980 A.D.

(D) 1982 A.D.

Whére did the politics of “Aaya
Ram Gaya Ram” start?

(A) Himachal Pradesh

(B) Punjab

©) Haryaha

(D) Uttar Pradesh.

When - did the Godhra Incident
.happen?
(A) In 1999 A.D.

(B) In 2005 A.D.

(C) In 2002 A.D.

(D) In 1990 A.D.



136-

137

& & T few ad gg o

(@) T 1949

(B) T 1950

() ¥ 1959

(D) T 1960.

g gg fo & W & = gem
u1?

(A) HARA-9I

(B) WRA-+

©) sEfE-afE T

(D) -S|

138.

: N"24'1I5-S'eries. A

Wifgaq @9 o1 fowes w9 gam?
(A) 1985 €. #

B) 1991 ¥ #

- (©) 1995 €. ®

(D) 1998 ¥, A

136.

137.

138.

(43)

In which year
established?

NATO

was

(A) 1949 A.D.
(B) 1950 A.D.

(C) 1959 A.D.

(D) 1960 A.D.

Between which two countries did

~ the cold war take place?

(A) India-Pakistan

(B) India-China

(C) America-Soviet Union
(D) America-Japan.

When did the Soviet .Union

disintegrate?

(A) In 1985 AD.
(B) In 1991 A.D.
(C) In 1995 A.D.

(D)- In 1998 A.D.

P.T.O.



139. .F\F_ H e et few g9 | 139. In which year did the Communist |

BR? revolution take place in Russia?
(A) 1914 % ~ (A) 1914 AD.
(B) 1917 %, (B) 1917 A.D.
(©) 1920 %, . ‘ (C)'1920 A.D.
D) 1931 % e (D) 1931 AD.
140. 3R 9 TF =90 EF!T? 140. When did Arr;erica becomg a

country?

(A) 1770 . #®
' (A) In 1770 A.D.

(B) 1776 .3 ¥ .
Yot (B) In 1776 A.D.

C) 1789 5. # : - e

3 | > % | ; '  (C) In 1789 AD.

D) 1792 % F d (D) In 1792 A.D.

i5l.” = Ag m RC H FE | 141, Which was is called ‘Computer

oy L | SR
(4) o Wﬁi{@ Mo Sl e First Gulf was
(B m@m 75 = 5o (B) second'Gulfwar )
.(CJ 'ﬁ'"ﬂ‘m" "3.78' CI ¢ (O To Ir;';tq- war

(D) M Tg. ) . - (D) Afghan war.

. N¢241_5-Sefies-A.. . | | (44 ) |



143,

144,

N-h "

mﬁaﬁ-{mﬁﬁaﬁaw

(A) T 1964 H

. @ T 1962 ®
. .¥ 1965

D) ¥ 1966 A1

@ s
® wa
(©) et

D) FITCHWEI

142,

143.

144,

(45)

What is the currency of China?

(A) Yuan

(B) Rupee

(C) Dollar

(D) Taka.

When did the first War between

India and Pakistan take place?

(A) In the year 1964

(B) In the year 1962

(C) In the year 1965

(D) In the y_e:ir 1966.

Where is the International court

of Justice located?

(A) India

(B) France .

(C) Netherland

(D) Japan.

P.T.O.



145. favg ® uyy . o
o wmfy wenfi O # ferg | 145, When was the First Internationy
effort to established peace in th,

qe Tl a#rrfcg’m QY we R e
World? ; i

(A) 1914 § # (A) In 1914 A.D.

: - 'l,'; Ll : e
(B) 1916 ¥ o (B) In 1916 A.D.

© 1918 ¥ A (C) In 1918 A.D. e
() 1520 % .30 (D) In 1920 A.D.
146. T ¥ @ fau fad et #t | 146, How many elements are requireq
ATl %?, | to form a state? L;
(A) I (A) Four 'Lf
(B) 4= (B) Five
© @ . .| (C) Three.
- (D) I (D) Two. |
' 147. Amfemar R IHRR & gt 2 | 147. How many types of Citizenship
SR A are there?
A) TH 43 e | ' :
_ j . - (A) One
B ks 23
B) = (B). Two
(€) (C) Three

(D) None of thesé.
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= qabn | 148. Which « scholar first ugeq
gt ' (Politics) Y% I sed the
6 gifafesd (

aad wea T B 3 fpm on? Word ‘Politics’?
'(A; = (A) Plato

| (B) Socrates
(B) w
(C) m\ ‘ "(C) Aristotle
I(D) Afeparaet| . (D) Machiavelli.

149,473 af gdwifres WA fee @ 149. What is'the 73rd Constitutional

geafyd 87 __ ~ Amendment related to.l?

(A) T | . . (A) Panchayati Raj’

(B) TR fetehl ' | (B) Municipality

(C) TR fm | | (C) Municipal Corporation‘
- (D) faum wfE= | (D} Legislative Council.

150. WRA H FAH T F fRad T 150. How many States are there in

- %7 | India at Present?
@A) 29 T : (A) 29 States
- (B) 27 T (B) 27 States
| ((_}) 28 Ty (C) 28 States
D) 30 :

_ (D) 30 States.
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